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+TO®(+TO®| +TO®|+TO|+TO| +TO|+ITB|+T@| +T@O|[+T@| +T@®| +T@®|+T@
-1 -2 -3 -4 -5 -6 -7 -1 -2 -3 -4 -5 -6 ==
v PR AR~k BANT| p=0.70 [ D=1.10 | D=1.16 | D=1.19 | D=1.21 | D=1.22 | D=1.29 | D=1.36 | D=1.39 | D=1.45 | D=1.49 | D=1.58 | D=1.61 | /it | &&F | & L
HPPE HPPE HPPE HPPE HPPE HPPE HPPE HPPE HPPE HPPE HPPE HPPE HPPE s
¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75 ¢ 75
AshRUIy S —
ARG T t=15cmET m 1.00f 487.40] 9.20] 5.20] 5.80] 7.80] 8.40] — 2.40] 1.80 11.60] 4.80] 4.60| 550.00| 688.00 690
e AR BB HIRHA
SEERUINEEL T BH0.28m3, t=10cmLL F m?>| 0.30]146.22] 2.76] 1.56] 1.74] 2.34] 2.52| — 1.08] 0.81] 5.22] 2.16] 2. 07 168.78] 212.14 210
DT 4tfEBH0.28m3 f&iA
ASHGE T AshiUhy 4 —5% m’ 0.01f 5.85[ 0.11] 0.06] 0.07] 0.09] 0.10] — 0.04f 0.03[ 0.21] 0.09] 0.08] 6.74] 8.48 8
ALy e t 0.02f 13.75] 0.26] o0.14] o.17] o.21] o0.24] — 0.09] o0.07[ 0.49] 0.21] 0.19] 15.84| 19.94 20
+w
PRYE T BH0.28m3 m° 0.26] 182.78| 3.62] 2.09] 2.37] 3.21] 3.63] — 1.66] 1.30] 8.56| 3.74] 3.64]216.86| 272.17 270
B AR
S ANMERT. BHO0.28m3 4>/ 5T m’ 0.11f 55.56] 1.05] 0.59] 0.66] 0.89] 0.96] — 0.41f 0.31] 2.00] 0.83] 0.79] 64.16] 72.06 72
ek A+
AR T BHO0.28m3 %>/ Sfin/E m’ 0.06/ 89.19] 1.85] 1.09] 1.25| 1.71] 2.02] — 0.97] 0.78] 5.22] 2.35 2.32]108.81]147.21 147
DT 4t4f BH0.28m3FH;A
FEA TR T b (B~ E ) m’ 0.06] 89.19] 1.85] 1.09] 1.25| 1.71] 2.02] — 0.97) 0.78] 5.22| 2.35| 2.32] 108.81] 147.21 147
BEH A% 57
FEiA L BH0.80m3, 1/ (i) —X | m® 0.06] 89.19| 1.85] 1.09] 1.25] 1.71] 2.02] — 0.97] 0.78] 5.22] 2.35 2.32]108.81]147.21 147
DT 4t4f BH0.80m3F&;A
i A - T 1w (R iES ~Bl) m’ 0.06] 89.19] 1.85] 1.09] 1.25| 1.71] 2.02] — 0.97) 0.78] 5.22] 2.35] 2.32] 108.82] 149.27 149
DT 10tf% BHO.80m3%4iA
g T 10 (R &3 ~ /L5y i) m® 0.19/ 83.68] 1.56] 0.88] 0.98] 1.31] 1.39] — 0.58f 0.43] 2.76] 1.13] 1.06] 95.95| 110.81 111
JUAR = VHE A m® 0.19] 83.68] 1.56] 0.83] 0.98] 1.31] 1.39] — 0.58] 0.43] 2.76] 1.13] 1.06] 95.95] 110.81 111
ATJW=18mAl SRR |
TREEET (1HiE) RC-40.t=15cm H3# m 0.30] 146.22| 2.76] 1.56] 1.74] 2.34] 2.52] — 1.o8] o.81] 5.22] 2.16] 2.07| 168.78] 212. 14 212
ATJW=18mAl SRR |
ERBET (1HE) M-30.t=11lcm Hj& m 0.30] 146.22| 2.76] 1.56] 1.74] 2.34] 2.52] — 1.08] 0.81] 5.22| 2.16] 2.07] 168.78| 212. 14 212
AT W= AmAS G A AN
g 1T (1ii8) FAEFRRIEET 23y, t=3cm #TE PK=3 | I 0.30| 146.22] 2.76] 1.56| 1.74] 2.34] 2.52 — 1.o8] o.81] 5.22] 2.16] 2.07| 168.78] 212. 14 212
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Pethn Ak Al EEEREHIREGA

SEERUINEEL T BH0.28m3, t=10cmLL F m’>| 2.88] 4.05] 2.25| 5.67] 4.23] 1.68] 0.60] 14.00] 8.00 43. 36
DT 4tfEBH0.28m3 f&iA

ASHGE T Ashily s —k m®| 0.12] o.16] 0.09] o0.23 o0.17] 0.07] 0.02] 0.56] o0.32 1. 74

ALy e t 0.28] 0.38] 0.21] 0.54] o0.40] 0.17] o0.05| 1.32] o0.75 4.09
T

FRHR T BH0.28m3 m’| 5.13] 7.29] 4.21] 11.96] 8.97 2.07] o0.16] 7.84] 7.68 55. 31
B AR

S ANMERT. BHO0.28m3 %/ \#ig)E m’ 1.10f 1.55] o0.86] 2.17| 1.62] o0.60] — — — 7.90
ek A+
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FEA TR T b (B~ E ) m’ 3.28] 4.70] 2.77] 8.33] 6.26] 1.04] — 4.34] 7.68 38. 40
I A e

FEIA T BH0.80m3, 1/ (i) —X | m® 3.28] 4.70] 2.77] 8.33] 6.26] 1.04 — 4.34] 7.68 38. 40
DT 4t4f BH0.80m3F&;A

Vi HER T R (RGBS~ ) m®| 3.64] 5.22| 308 9.26] 6.96] 1.16] — 4.82| 6.31 40. 45
DT 10tf% BHO.80m3%4iA

g T A (&S ~ LS5 i) m® 1.49 2.07 1.13] 2.70] 2.01] o0.91] o.16] 3.02] 1.37 14. 86

JUAR = VHE m® 1.49 2.07] 1.13] 2.70] 2.01] o0.91] o0.16] 3.02] 1.37 14. 86
ATJW=18mAl SRR |

TREEET (1HiE) RC-40.t=15cm H3# m 2.88] 4.05] 2.25| 5.67] 4.23] 1.68] 0.60] 14.00] 8.00 43.36
ATJW=18mAl SRR |

ERBET (1HE) M-30.t=1lcm HjH m 2.88] 4.05| 2.25| 5.67| 4.23] 1.68] 0.60] 14.00| 8.00 43. 36
AT W= AmAS G A AN
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HPPE ¢ 75

+TE-1 D=0.70 TR 0.5 m 0.
HPPE ¢ 75

+TO-2 D=1.10 +IE 112.6  62.6/  49.0 5.6 5.6 4.4 3.9 m | 243.
HPPE ¢ 75

+T@3-3 D=1.16 +LR 4.6 m 4.
HPPE ¢ 75

+T@®-4 D=1.19 TT& 2.6 m 2.
HPPE ¢ 75

+T®-5 D=1.21 +LR 2.9 m 2.
HPPE ¢ 75

+T®-6 D=1.22 TT& 3.9 m 3.
HPPE ¢ 75

+T@-7 D=1.29 +TR 4.2 m 4.
HPPE ¢ 75

+T@-1 D=1.36 TR m
HPPE ¢ 75

+T@-2 D=1.39 +TE 1.2 m 1.
HPPE ¢ 75

T T@-3 D=1.45 tIE 0.9 m 0.
HPPE ¢ 75

+T@-4 D=1.49 +TE 5.8 m 5.
HPPE ¢ 75

T T@-5 D=1.58 +IR 2.4 m 2.
HPPE ¢ 75

+T@-6 D=1.61 +LR 2.3 m 2.
HPPE ¢ 75

+T@-7 D=1.63 +TR 3.2 m 3.




HPPE ¢ 75

+ T@-8 D=1.65 +TEK 3.9 0.6
HPPE ¢ 75
+T@-9 D=1.72 +LR 2.5
HPPE ¢ 75
T T@-10 D=1.96 +TE 6.3
HPPE ¢ 75
+T@-11 D=1.97 +IE 4.7
HPPE ¢ 50
+THE-3 D=1.11 TR 1.4 1.4
HPPE ¢ 50
+ T4 D=0.15 TR 0.5 0.5




+T ®-1 HPPE ¢ 75 + T ¥ & i B E 102240
s % T wm B ”:;ﬁ”ﬁil CREEP | |
HPPE 675 +#0 0.70 m e
Ashtys—
TR T T RAEFERLD = 0.5 m |48k = t=15cm¥T 2 X 1.0 2.0 m 1.00
PEHIEE = 0.70 + 0.09 + 0.10 - 0.04 = 0.850 m HEH AR R BRI REA
PR H AR =0.20 + 0.09 + 0.10 = 0.390 m ||AshERVEEL T BH0.28m3, t=10cmLL F 0.600 X 1.0 0.600| ™ 0.30
R 763k 4 =0.04 + 0.85 - 0.39 — 0.29 = 0.210 m
AsERALER T 0.600 X 0.04 0.024] ™ 0.01
+I® Asi¥ILEL T 0.01 X 2.35 0.024] * 0.02
fﬁiﬁ¢(7§giﬁé‘ﬂ) +Hb H ,
I T BHO0.28m3 0.600 X 0.850 0.510] ™ 0.26
_HEEI fREIE SR (BETHET) VAV 0.600 X 0.390 ’
EEEEL—F 600 R IR N-30) MR T BH0.28m3 %>/ fifE - 0.006 (BlEFfeRk) | 0.228] ™ 0.11
i | V' / TS (BERE RC-40) ekt 0.600 X 0.210
g\ /8 HR T BH0.28m3 %/ Siis/E 0.126[ ™ 0.06
' _ ;ﬂé@ —35 fEREHM 007 X 0.9 = 0.06
= N\t = e+ n3 0.07
= | REE 1Ed L
=5 H 2 PR T 0.26 - 007 = 0.19| ™ 0.19
| 8
L] KT8
HPPE ¢ 75 \Oh=F429" 944
BE AJI AN HAN
AsZ B T(HH) FAEBRLEET 22 t=3cm, PK-3 0.600 X 1.0 0.600| ™ 0.30
2 AT W=1.8mAw 2ol
P A 0.09 X =x/4 =0.006 g A T (HE) PR MAM-30 t=11cm 0.600 X 1.0 0.600| ™ 0.30
AT W=1.8mAH; FoNHRE
TEEET (FE)  |[FAERARC-40 t=15cm 0.600 X 1.0 0.600| ™ 0.30




+T ®-2 HPPE ¢ 75 + T ¥ & i H & 10524V
lm%V) * 1%@?%@ we opr. Ny =
X T iy # I — - b 2
%S f Pt il R Fr— BTl & &=
HPPE 75 +4%0 .10 m
¢ T
AsffUys—
TR +THEEEHFELY = 243.7 m |Gk T t=15cm¥ T 2 X 1.0 2.0| m 487.40
PEHIEE = 1.10+0.09 + 0.10 - 0.04 = 1.250 m HEH AR R BRI REA
P B A AR =0.20 +0.09 +0.10 = 0.390 m ||AsfREEEL T BHO0.28m3, t=10cmLL F 0.600 X 1.0 0.600| ™ 146.22
HRTE fEk+ =0.04+1.25-0.39 - 0.29 = 0.610 m
AsE U T 0.600 X 0.04 0.024 ™ 5.85
+TG AsERALEE T 5.85 X 2.35 13.748| * 13.75
LG T H
T (FLaE) .
o715 E T BH0.28m3 0.600 X 1.250 0.750| ™ 182.78
_{EN FEIR e . A AR 0.600 X 0.390 '
. f‘f ﬂggiﬁfg*;’;m BB T BH0.28m3 %>/ S#E[E - 0.006 (FlAFPeR) i 0.228] ™ 55.56
1BEHER S — b 600 Ik m s <
v 1 S REBE® (EBERE RC-40) B £kt - 0.600 0.610 y
" _ |/ 3, BT BHO0.28m3 >/ iiEF 0.366 89.19
s o —2 fEREHM 99.10 X 0.9 =  89.19
n e = e+ n3 99.10
% g (FEL TER 137
= el B+ ALBE T 182.78 - 99.10 = 83.68] ™ 83.68
H
i
ARk gl N
HPPE qs,v,ss" Br-F49" 944~
HE AT A AN
As#JE T.(§H) FAR R FET 23 t=3cm, PK-3 0.600 X 1.0 0.600| ™ 146.22
2 AT W=1.8mEfili AonERJE
P B P 0.09 X /4 =0.006 FERAE T (HE) RO A M-30 t=11cm 0.600 X 1.0 0.600| ™ 146.22
AT W=1.8mEfili AonERJE
TR T (HE)  |HEFARC-40 t=15cm 0.600 X 1.0 0.600| ™ 146.22




+T ®-3 HPPE ¢ 75 + T % & #H HE E 10241
Im3% v -1 EHFrYY ol w =
X T iy # I — - b &=
%S i gl il R Fr— BTl & &=
HPPE 75 +4kv 1.16 m
¢ <+T>
AsffUys—
T+ TR +THEEEHFELY = 4.6 m |GGk T t=15cm¥ T 2 X 1.0 2.0| m 9.20
PEHIEE = 1.16 +0.09 + 0.10 - 0.04 = 1.310 m HEH AR R BRI REA
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‘ P T BH0.28m3 1.00 X 1.00 X 0.96 0.960| ™ 7.68
| DT 4t#% BHO0.28m3%& 1A
! FeE A T T (B~ R B s 7.68
e A5 S 7
A R I FEA T BH0.80m3, b ({5 ) L — = e 7.68
1000 LRSS GBERE 130 || (S, } "
— Ll PR T BHO0.28m3 %/ $AE .00 X 1.00 X 0.71 0.710] ™ 5.68
S TREBE (BERE RC-40 DT 4tf% BHO.80m3fEIA kbl 631 X 0.9 = 568
= bttt —— it o T ) (RS~ B8 6.31] " 6.31
8 DT 10tfif BHO.80m3F&iA FER A3
s o s | R E R T 4 (e s~ Aoy ) 768 - 631 = 1.37) ™ 1.37
S gl S W | P o
i - LGy e VR + m3 1.37
<EHHEREIBT. >
BE A AV
AsFe i T.(HH) PR R EET A7 t=3cm, PK-3 1.00 X 1.00 1.000| ™ 8.00
ANTT W=1.8mAf Hvn a1
R RO T (hE)  [RDEFIEEREAM-30 t=11cm 1.00 X 1.00 1.000| ™ 8.00
AT W=1.8mAf HvnHRE
TR T (FE)  |FAEMRARC-40 t=15cm 1.00 X 1.00 1.000| ™ 8.00




EE R EEERCIEFEE)
B - H¥%D TEER¥ (H) i &
T il il AL | E¥EE wEn [ERTR | TEnE SR

ITX

<tT>
AshiUy4—

FESl] t=15cmET m 690 230 3.00 1.7 5.10
BEH AR RRL BB HIRGA

SHEERRREEL T BH0.28m3, t=10cmEL T m2 210 194 1.08 1.7 1.84
B

PR T BH0.28m3 m3 270 85 3.18 1.7 5.41
BAR

A AN T BHO0.28m3 &>/ i5E m3 72 36 2.00 1.7 3.40
ek +

FeE MR T BHO0.28m3 &>/ i5E m3 147 36 4.08 1.7 6.94

<ARAE 1A >
NS W=1.8mAili, Jo NG E

B A T (i) RC—40.t=15cm HjE m2 212 222 0.95 1.7 1.62
NS W=1.8mAili, JonHEE

AT () M-30.t=1lcm Hiji m2 212 222 0.95 1.7 1.62
ANTTW=LAmAS G AN AN

8 1T (T3E) AR EET 23y, t=3cm HJH PK-3 m2 212 250 0.85 1.7 1.45

< AEHFEAE IR >
AshiUy4—

FESl] t=15cmET m 460 230 2.00 1.7 3.40
BEH AR RA BB HIRGA

SHEERRREEL T BH0.28m3, t=10cmEL T m2 580 194 2.99 1.7 5.08
VRE

TR IR VXE + m3 2 85 0.02 1.7 0.03
3 1.4m<b =3.0m (Fy/a—})

8 1 (HE) FEBRRIEET 21 t=4cm m2 580 250 2.32 1.7 3.94

S ~ AR W=15cm FE#R m 1000 1.7

N e m2 580 1500 0.39 1.7 0.66




R . HY%D TEER¥ (H)
T i il HAL | E¥EE = — — —
PR | = ak | A*BmE T

<EAfigk L>

(FR A

HPPE ¢ 75
AL

KIZFU R T ¢ 75 m 308.7 100.0 3.09 1.7 5.25
AL

KIZFU R T ¢ 50 m 100.0 1.7
AEBG (rybh W52 5)

R 2F L EE T T $ 100 &7 14.3 1.7
ARG (ryb W52 5)

) LF L EE T T ¢ 75 &7 65.0 20.0 3.25 1.7 5.53
BEBG (Vrybh W52 5)

) 2F L EE T T $ 50 &7 25.0 1.7
RlAEHES (s i)

BV FL G T ¢ 75 H 68.0 28.6 2.38 1.7 4.05
RlAEHES (s )

) 2F L EE T T ¢ 50 5] 35.7 1.7

KIZFL A EI T ¢ 100 H 50.0 1.7

KIZFL Ak T ¢ 75 H 55.0 100.0 0.55 1.7 0.94

KIZFL A EI T ¢ 50 H 100.0 1.7

77 WL ¢ 75 7.5k H 12.0 16.7 0.72 1.7 1.22
FHEIBE S 1A+

AH =T NVATF T ¢ 75 H 6.0 20.0 0.3 1.7 0.51
FHEIBL S 1A

AH =T NVATF T ¢ 50 H 20.0 1.7
AR =T VAR T

MFESLT ¢ 75 H 32.0 1.7

2SI AR L ¢ 75 e 4.0 20.0 0.2 1.7 0.34

ke T $ 100 pre 17.5 1.7

) FpasE T ¢ 75 e 12.0 17.5 0.69 1.7 1.17




TEE R % (H)

T it il (=3 — — —
" T | e | T
Pk
AR AHLAE T ¢ 100X ¢ 100 1.7
HrekE
AR AHLAE T 675X ¢ 75 1.7
R KERE T f%E 45,
WK SRR E T $100 DIPH 1.7
7T HPPE ¢ 100 1.7
7T HPPE ¢ 75 318.1 0.35 1.7 0.6
7T HPPE ¢ 50 1.7
HERFR S — NERAT T W=15cm, #'7°V, 50m/% 318.1 1.27 1.7 2.16
0y —7 47 AV T 318.1 0.32 1.7 0.54
(€779
HPPE ¢ 50
AL
B FL L E AT T $ 50 2.2 0.02 1.7 0.03
AL
KYzFL B T ¢ 100 1.7
AL
BV E AT T ¢ 75 1.7
BEBG (Vrybh W52 5)
R 2F L EE T T ¢ 50 2.0 0.08 1.7 0.14
BEBG (Vrybh W52 5)
) 2F L EE T T ¢ 100 1.7
BEBG (rybh W52 5)
) 2F L EE T T ¢ 75 1.7
RbEBS (s 03
R 2F L EE T T ¢ 50 2.0 0.06 1.7 0.1
RbEBS (s 03
) 2F L EE T T ¢ 75 1.7
KY=FL A B T ¢ 150 1.7
KY=FL A B T ¢ 100 1.7




R . HY%D TEER¥ (H) fii #
T T il HAL | E¥EE = — — —
PR | = ak | A*BmE T

KIZFL I T ¢ 50 H 2.0 100.0 0.02 1.7 0.03
750 W T ¢ 100 7.5k 5] 16.7 1.7
750 W T ¢ 75 7.5k 5] 16.7 1.7

BB
GXHk T T ¢ 150 H 18.0 1.7
e IR IE T ¢ 75 e 20.0 1.7
) FpasE T ¢ 50 e 1.0 17.5 0.06 1.7 0.1
fHEI ks T $ 100 pre 17.5 1.7

Pk
AR AHLAE T ¢ 100X ¢ 100 [5G 3.6 1.7

HrekE
AR A T 675X ¢ 75 &7 3.6 1.7
WK SRR E T ¢ 100 DIPH &7 3.6 1.7
B IETK Ak B L 75 DIPf &7 3.6 1.7
EHT—7" T HPPE ¢ 50 m 2.9 833.3 1.7
7T HPPE ¢ 100 m 909.1 1.7
7T HPPE ¢ 50 m 1111.1 1.7
HERFR S — N T W=15cm, #'7' )V, 50m/ % m 2.9 250.0 0.01 1.7 0.02
0y =747 AV T m 2.9 1000.0 1.7
<t IT>

i 5y
R B AR A T ) - AR R2.0m m 41.2 12.3 3.35 1.7 5.7

i 5y
R AR B | Pk T ) - AR R2.0m m 41.2 16.8 2.45 1.7 4.17




T ) wir | peser | R0 RO fii %
B FHHE | ~EEE TH

i 5y

R R AR A T ) - AR R2.5m m 21.2 9.8 2.16 1.7 3.67
i 5y

[:3=PRGIE an W) - AR R2.5m m 21.2 13.4 1.58 1.7 2.69

<FPEFRE T >

<fEU)FpEEakE L >
VAR

U0 E R E T M 250mm X H150 &7 13.0 16.7 0.78 1.7 1.33
2=

)P EE R L L EEE ¢ 250 X H150 &7 13.0 100.0 0.13 1.7 0.22
2=

U0 E R E T FPEE ¢ 250 X H200 &7 26.0 100.0 0.26 1.7 0.44
2=

U0 E R E T FREE ¢ 250 X H300 &7 100.0 1.7
2=

U0 E R E T THBEE ¢ 250/ ¢ 350 X H300 &7 13.0 100.0 0.13 1.7 0.22
2=

e E T JERR ¢ 350 X HT0 &7 13.0 100.0 0.13 1.7 0.22

< ZERIPE ik E L >
M35

2SR E AR L M 7% 500mm X H100 &7 4.0 10.0 0.4 1.7 0.68
2=

7SR AR L ¥#EE ¢ 500 X H200 &7 4.0 33.3 0.12 1.7 0.2
2=

7SR AR L HEEE 500X H100 &7 4.0 50.0 0.08 1.7 0.14
2=

2SR E AR L THBEE ¢ 500 X H200 &7 4.0 50.0 0.08 1.7 0.14
2=

R FE R E T JERR ¢ 500 X H40 &7 4.0 50.0 0.08 1.7 0.14

<BEF%IPEE M T >




N e H¥4Y EER% (R) i #
T & il WL | EER | pwn FEETER T ERE TR =
BERR A V) 7P 2 gk ik 15 ¢ 250 [E50E0 11.0 26.7 0.41 1.7 0.7
BERR 72 KFP - W R AR S R = 35 $500 T 3.0 16.0 0.19 1.7 0.32
<JEKFRER T >
KRR T HRERL ¢ 75~ ¢ 50 m 305.1 750 0.41 1.7 0.7
& &t 50 85
WSTITECA=E BSGYT0 RREEZELFEB AL,
3N X 50 H = 150 A1 H 403 N/#AFE E3°2,
Hke
<EAFEL>
750 T ¢ 75 7.5k M 4 16.7 0.24 1.7 0.41
TR E T o075 HITAHN H 2 12.5 0.16 1.7 0.27
< kAR > H=640
TH AR R L FJ¥ 500mm X H100 [E50E0 2 10 0.2 1.7 0.34
A HBEE ¢ 500 X H200 & 2 33.3 0.06 1.7 0.1
A HPEEE ¢ 500 X H100 & 2 50 0.04 1.7 0.07
TH AR R L THEBEE ¢ 500 X H200 & 2 50 0.04 1.7 0.07
MR T JEERK ¢ 500 X H40 T 2 50 0.04 1.7 0.07
a & 1 1
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